BETAIZAINIIEZE AHt  Tm2748A
L2648 H SR 2748 H BI4ER AL
PNEE 423636 AN 433,831 A 2.35%
WIREE 251,223 A 259,258 A 3.10%
EERGERRE L 4190 A 3.892 A -7.66%
WHBEEH 172413 N 174573 N 1.24%
HREX 68.6% 67.3% -1.88%
2648 A SR 2748 B BIER A
FEMRH 18,3125 %Ry 19,1515/ 4.38%
Y2648 A Y2748 A BIAER AL
SR AERBN A ZE B4 st 266,834 268,844H 0.75%
SERZAESRBN A EE B 305,276H 307,506 0.73%
SEHIEAESRBN B 58 &% 210,174H 211,963H 0.84%
2648 H SR 2748 B BIER A
RERBAHE 4.835,189FH 5,149,849+ H 6.11%
ERBAGE 4481,394FH 4774,829FH 6.15%
RYiGaAt 4,393,806FH 4,683,669FH 6.19%
AREERG T E 1,632,261+ H 1,699,353FH 3.95%
B EEG A E 1,651,643FH 1,761,467FH 6.23%
HREERGANE 386,156FH 408,278FH 5.42%
AN EERBNE 676,481F+H 764,798+ H 11.55%
AREEEEREE £ 7REE 41,659FH 41,891FM 0.55%
SHEEE 5606FH 7,881+ H 28.87%
RE&HRA 87,588FH 91,160+ M 3.92%
AREEERBE £ FEBE =8 FH 13+ M
BaE 63,953FH 68,479+ M
BEE 25F M FH
SiEEsE 23,610FH 22,669FH
FOMIREHE A 353,794+ H 375,020FH 5.66%
e 138,426FH 131,959+ H
piiiE sy St 1,900FH 2,050FH
HEBR—KEE 156,510FH 164,932FH
HEFYHE 56,958FH 76,079FH
2648 A SER2748 A BIAERE A L
— ANHVEERBRANE S5t 10,578H 11,006MH 3.89%
— ANYYERKBMNE APt 3,853H 3,917H 1.64%
— ANYRYERKBMNE Bt 3,899MH 4,060H 3.98%
— NS ERGAE &R 912H 941H 3.14%
— ANYRYEERKBMNE ZEA) 1,597H 1,763H 9.42%
L2648 H SR2748H BI4ER AL
— ANYEYZFOMIIREHRMAE 835H 864H 3.39%
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